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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / e iy R
: n— ; I-1
_3 3 ?) _9 :4.---,ﬁd/€1’!K—z(31+2)/u%[
Imaginary part of — (37 + 2) is ----- :
- 5« v o A d 2 .12 19
: f / - f
LCM.of a“+b" and a” =b" is:
. . J‘L?*'_--_ci,u/wiu’”ﬁl.auféwvg 3
- "‘L' i oF ---- congruent triangles :u,?&ﬁ ke
Two Five Four Three can be made by joining the mid-points of
the sides of a triangle :
et (x, y) Intx,00=(0,y))1 |4
(1,1) 0,00 | (1,0 O L N A en . 1
{—1—2 -1 0 -1 2 I -2 A 1 27, lAd'l 2 5
Lo 1 2 1 0 -1 0 Vo | g g | A
is
x-2<0 x+2<0 | 3x+5<4 x>0 e Ker Lot fx=0 |6
x = is a solution of the inequality ---- :
| gt | MU oo o s lenincgngr |
None of thege rigﬁegn gle Tris Bisect iagonals of a parallelogram --- each other :
13 35 1 3 In /35 the g:.-----i@{}g/u.f% 8
> 3 radicand is :
a=log,x | x=log,n | x=log,a| a=log,n | Ifa* =n,then : Sra*=nti|”
; - {10
2-by-2 lby-1 | I-by2 2-by-1 ¢ Qe 3 Loy
The order of matrix [2 1] is-----:
e BAueka? —2a+1 | 11
tael) (a-1) | £ | *(@@+) O b’
The square rootof a” —2a +1is :
TR _ - s | 12
(]’1) (0,0) (‘27_‘2) (2’2) ’ ‘L}ﬂd&"ug(z, 2)/)1( 2,2)£W
Mid-point of the points (2,2 )and (-2,2) is :
1 ] i : e (3+42)3-42) | B
(3 +\5)(3 —\/i) isequalto ;-
lo . . 14
loggq—logp | logp+logq i34 logp—1logq The valueoflog(£)1s: : rv:«»;’p( log(g)
logg q q
Mo L3P - x =2 | B
(x- DGx+2) | (=1)3x=2) | c+Bx+2) | (x+-1)Bx—2) i ; dre el
Factors of 3x° — x — 2 are-— :
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(PART -1 Js.e)
12 2. Write short answers to any SIX (6) questions : : o ez A L ey (6)4:_(21( 2

. 1 1 5 1 1 .
@D I B:[z 0} then vesify that (B') = B (B') = B SZ53.147 B:[z o}( o)
- 3 4 -3 4 - +3 4 -3 4 N
Gip 1] " = then g b ? = i Gi)
6 b-1 6 2 6 b-1 6 2
finda, b 5
(iii) Simplify : 527+ (52) 2 (i)
(iv) Evaluate: 70 TRA g(}"‘og Gv)
(v) Find the value of x loggs5= %x logeys S = %x g(:"‘”ogp(x W)
(vi) Express the given number in scientific notation : 416.9 .2, u.f(f btad Vst vy (Vi)
2 - - .o
(vil) Simplify the given expression : (_x_%_y))# & A Aat ey (viD)
xX—Yy
(viii) Simplify : V21 x+/7 x 3 25 A (viid)
(ix) Factorize : 4x% ~16y? _ :éd % (ix)
12 3. Write short answers to any SIX (6) questions : o8 iz A L ey (6)4’4.(}:( 3
() Find HCF : 102xy%z , 8552 yz , 187xp2> e Al (@)
(ii) Solve the equation : 1{ 1 _ 2, x# & s Flenl. G
2x+5 2 :
(iii) - Solve for x = |2x+5|=11 |2x+5|=11  &Epbeddx (GiD
x—-2y=-2 é}':"‘"u,‘:fu( cnlmpféé_/’//:wwyd/y—ﬁmerc Gav)
(iv)  Writing in the form of y =mx + ¢ find the valueof m and ¢ : x-2y=-2

e B 2—y+1=0¢fU (0,0) BSEIS W)
(v) Verify whether the point (0, 0) lies on the line 2x—y + 1 =0 or not.
A(0,0),B(0,-5) : &k bl HLni by Uizl (vi)
(vi) Find the mid-point of the line segment joining the pair of points A (0,0),B(0,-5)

(vii) Find the distance between the points : A(9,2),B(7,2) :épl”.lﬂﬁg.}yuﬂ.@ (vii)

(Viil) If ABC=ALMN . find the value ofx: 2@ =dx I AMBC=ALMN i (viiD
Wv L
(ix) If LMNP is a parallelogram : 2:{(}”&5(,( n sim Jsfuens i L LMNP i (Gx)
find the values of m, n : p ] p
5%
. {
1 0
o
55
A n
L gm-4Ym " =
12 4. Write short answers to any SIX (6) questions : o ez A7 L oy £6)43¢.d;( 4
(1) Define ratio. -éhe/'d/&“ (1)

(&3)




Q) MR Gl
g0 2 i Wx® e KA ) AD U ABC Wil (D) 4
4. (ii) In equilateral triangle ABC , 4D is bisector of angle A, then find the
value of x°, »° and z°:

B4t 5 ¢
S i AL B e L e B2 LS GiD
(1i1) What will be the angle for shortest distance from an outside point to the line?
(iv)  Verify that the A having e o127 2ls, S CR NS NNV (V)

the measure of sides is right angled : a=5cm , b=12cm, c=13cm
(v) Find the value of x in the figure : ) é(}”‘o»f‘fxuff )
6(”’“' i ictm
% fo
(vi) Find the area of figure : » 3cm : é{‘)"” ,}ﬁlf’ (v
(vil) Define area of the figure. bem _Z{Vy/‘."d/)/[.f (viv)

mAB =25cm , mZA=30" , mZB=105 iU et AABC (viid)
(viil) Construct AABC in which : mAB =2.5cm , mZAd=30 , mZB=105

(ix) Define circumcenire. -é&-—éj /‘7 S+ / 7 (x)
(PART -1 r’::/’ )

Note : Attempt THREE questions in all. -4‘:_(!)0 9 / Jlr‘dg -d.»gméwvd ‘f O
But question No.9 is Compulsory.

5. (a) Solve the system of linear :éd’cugfuiﬁ‘ﬁ/ﬁ/fu?bufd; () 5
equations by using Cramer’s rule :
2x -2y =4
3x+2y=6
p+q qg+r
p q / - -
(b) Simpiify : [a—q} g [ﬁ;} + S(ap.a’")[) Tax0 A (L)
a a

6. (a) Use log table to find the value of : 3\/25.47 : éfﬁ’aéa:;g}/d;y(j/@ (H) .6
-gq’)”c«gd/nyFyz«kzx Vv x4+ y? +2° =64 il x-&—y+z:l2/f‘ (<)
(0) If x+y+z=12 and x> + y* + 2> = 64, then find the value of xy + yz + zx

7. (a) Factorize : x2—y? —4xz+ 427 CZGF (Y) T
(b) Find the H.C.F. by the division method : e i e ()
X0 +3x% —16x +12, % +x7 ~10x +8
8. (a) Sclve the equation : S(x(: U pe ~—;£ :é‘-(}’“‘qw&ubu (%) .8
(b) Construct the AABC and L B8 it L L sz b ABC & (2)

draw the perpendicular bisectors of its sides :
m BC=29cm,ms A=30", msB=60"
-gﬁ.lﬂw!djb‘cu;/[.b»ﬁﬂu;ndl;gytd)fibﬂu/iﬁvgffé:_:t‘ .9
9. Prove that any point on the right bisector of a line segment is equidistant from its end points.
OR 3
_ch'.,t‘ﬂ,h"widJPc.ub)l, Lu’#ﬁugﬁdlﬁéﬁtéé,:iif/fé&t‘
Prove that any point on the bisector of an angle is equidistant from its arms.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question. :

D C B A Questions / = Uir £
lo . . I-1
logg-logp | logp+logq it o logp—logq Thevalueoflog(g)ls:: =c/jd/log(£)
loggq q q
(_1 _]) (0 i) (1 0) (1,1) LL-—-JL";;(}!{‘/}K(Z,Z)J)[(O,O)ﬁ@ 2
Mid point of the points (2,2)and (0,0)is :
e LK@ B nla? -p% |3
a® —ab+b* | a* +ab+b* a+b a-b e ’): . 3’
H.CF.of a"—b" and a” =b” is ----:
2006 sF J'u;"ﬂywldﬂ/c:.u;/[.b;ﬁfﬁﬂvg 4
Sl ssf G el : - . 3
g . Right : A point ;.Lxdi;{,«--éb.xb’
Redian Perpendicular | pjcecior Bisector equidistant from the end points of a line
segment 18 on s ---- :
-1 0 -1 2 1 -2 -1 -2 Adi 1 21 e 1 2 5
2 1 0 -1 0 -1 0 1 hof | o _ | 'F5 49 o
is
(a—b) (a-b) (a+b) (a-b) A 3,43 6
2 b2 9 2. | (@2 —ab+b%) 7 2 a3l e
(@ +ab~b") | (o ~ab+57) v (a* +ab+b")
v 11 I 1 el (2,-3)8 |
Point ( 2, —~ 3 ) lies in quadrant :
dﬁlé’(‘;u:@" 35 l 3 In i/gs— the :9----.‘;{,‘3/‘}:% 8
None of these g radicand is :
d/‘;,. ,.953(7 br’; J"L;;,. LX,’Z—%---J’LJ);L&L&’UI.:“L& 9
; The right bisectors of the three sides of a
Parallel Concurrent Collinear Congruent triangle are ---- :
(a—2b), (a-by(a+b), | (@2-26%), | (a~b)(a+b), Seeebpizt gt — ap* | 10
(a* +2b%) (a® —4b?) (a® +2b%) (a2 + 4b2) Factors of a* — 4b* are — :
z R
4% --%/;3' /43 3/42 write 43 with radical  : éuﬁ(/ﬁﬂfyi/ 43
sign:
1 0 0.4343 0 (e=~2.718) £ - =loge 12
fog e = ---- , where (e ~2.718 ) :
’ i 2 _ . 2 _ 13
) 24 42 -3 b (”uw/x x—6sx°-5x+6
H.C.F. of x> —5x+6 and x*—x—6is:
2 5 5|2
D es [x y] { } Sed”
[x+2y] [2x-»] | [x-2¥] [2x+y] %
2
The product of {x y] !: J is :
x>0 x <10 x<19 x28 e Trfr e 10280 2SI | B
If x is no larger than 10, then ----- 3
176-021-TI(Objective Type)-2:250  (5198)




(2020-2022 © 2017-2019 F£E>) (S piia) iz

MATHEMATICS (SCIENCE) LHR-63.9) (V) Fy
Paper : I (Essay Type) (JLK,{’ ) 021 Gl 1 @ 24
Time Allowed : 2.10 hours (_;;/ 1/35) 2210 o5
Maximum Marks : 60 60 : ASF

R ( PART -1 Jsl.2 ) . .
12 2. Write short answers to any SIX (6) questions : o A2 A L ey (6)43:.{}:( 2

. -1 3 2
(1) Find the multiplicative inverse : Az[ . Ojl : Ef_fr}"’ Jﬁ’ Q/ 6))
3 o o
(i) Simplify : 527+ (52)3 2 (i)
Giii) Simplify : s % 24 Gid)
(iv) Write the conjugate : —1 ~i SR Gv)
(v) Express in ordinary form : 5.06x 101 5.06x100 2t (.3:/" e (V)
(vi) Find the value of x : log, 64 =2 log, 64 =2 &= dfx (vD)
2 oA ..0 .
(vil) Reduce to lowest form : %%—4— el LB J(’ o7 A7 (vil)
x =
(viii) Simplify : V21 x N7 x43 2L A (viid)
(ix) Factorize : 2xy° (x% +5) + 8xp% (x% +5) éd/’ (ix)

12 3. Write short answers to any SIX (6) questions : o AT 4 /‘7” L =y (6):::..6:’/ 3
(1) Use factorization to find the square root of : 452 - 12xy+9 y2 : 2’5{}"” J)gc:,qu /; )

(i) Solve the equation : V3x+4 =2 s gL e (D
(iii) Solve for x : ; i 6 z ’z{rP;,EJx (i11)
=K

-éfﬂ”ﬂ&c»lm/x[_i./ﬁwuf y=mx+c¢ S x-2p=-2epbls (V)
(1v)  Find the values of m and c of the line x- 2y =—2 by expressing it in the form y =mx + ¢
e By 2x—y+1=0¢ (5,3) BIETA W)
(v) Verify whether the point ( 5, 3 ) lies on the line 2x —y + 1 =0 or not.
A(7,5),B(1,-1) @ e Lebillenbusinl s (VD)
(v1) Find the distance between pair of points A(7,5),B(1,-1)
A(=5,-7),B(=7,-5) :&e# B8 skural s (viD)
(viD) Find the mid-point between the pair of points : A(-5,-7),B(~7,-5)
(viii) If AABC=ALMN , then find the unknown x : 1%, ij,uzf Sx ¢ AMBC=ALMN 1 (viiD)
c

5

(ix) The given figure ABCD ’Z:(f)"o»fd/ m sl x - e LI ABCD ‘fﬁé‘fd; ax)
is a parallelogram, find x and m :

I8
12 4. Write short answers to any SIX (6) questions : éouz Ve L:MJV (6){@6:( 4
(1) Define similar triangles. -Ei.f_éi Y d/ e aliie (1)
(213,.)




R

) U«-&Z-Zl

4, (i1) Define ratio . @ EE iy GD 4
ol K wwuuu&w'&wg{ T A3 i

(ii1) 3cm, 4cm and 7em are not the lengths of the triangle. Give the reason.
(iv) Find the unknown value in the given figure : :ér}”bwf it (}1”’ bt f Jnd > aw)

‘ . ‘/ZC'm

lem .
(V) Verify that the triangle having 1ol 2146 &k S22 et st mutd Sl eds (V)

the measures of sides is aright triangle : a=16cm , b=30cm , c=34cm
(vi) Define rectangular region. | Ly d ,3/«}«}:/ (vD)
(vii) Find the area of the given figure : :zL e JEF dns> (vid)
(vil)) Define centroid. l6em -2;":/.,9 Y S (viid)

m AB=25cm,ms A=30°, ms B=105": U &b ABC &L (iX)
(ix) Construct a AABC in which: m 4B =2.5cm, m/ A=30°, m<B = 105°

(PART -II (3342 )

Note : Attempt THREE questions in all. -g_d/’u 9 /Jlrug -é‘aglzﬁ.:«wnf gf O

But question No.9 is Compulsory. -
4 5. (@) Use matrices inverse Ly lZ; Pl nbu™Luds (O) 5

method to solve the linear equations, if possible :
2x=2y=4 , 3x+2y=6

4 () Findxandy : (2-3)(x+y))=2(x-2yi)+2i-1 épl’”ymx (<)
4 6. (a) Use log tables to find the value of : IZ:.:(’!{”&»;:.)AJJJ&//K)J (") .6
(1.23)(0.6975)
(0.0075)(1278)
4 -Z{rﬁh’ag(fq2+i2 ?nq’=\/§+2fl .y
q
(b) If g=+/5+2,then find the value of q2+—%
q
4 7. (a) Factorize : 4x2-17xy + 4y? 5@5/’ ) .7
2 2 3
4 (b) Simplify : i ;x"6+x2+2x’24 2 (L)
x“ -9 X —x~12
4 8 (2 Solve : N S S ZF () 8

3x+6 6 2x+4°
4 (b) Construct the S/ LS LWL 1 ABC el b dny ()
AABC. Draw the perpendicular bisectors of its sides :
m AB=53cm, mZ A=45°, ms B=30°
8 _(y?yUJ’d:Lfcru:/ﬁﬁiag.b};u;ﬂdB4J’L‘d}f&b,ﬂh§ujﬁ~.¢gfl
9. Any point on the right bisector of a line segment is equidistant from its end points.
OR L

-+rnJJWtd,pgu5,)gaﬁw.&ﬁu{tﬁ/,wuig:.,uu/
Any point on the bisector of an angle is equidistant from its arms.
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